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QUESTION 1

Why would an application developer use multiple time dimensions in a cube?
A. Users need to forecast sales for the next quarter.

B. Users need to estimate future inventory needs for the year.

C. Users need to anticipate units sold of a new product line.

D. Users need to create financial statements for last year.

Correct Answer: D

QUESTION 2

Which of the following attributes can be used to display element names in multiple languages?
A. Text

B. String

C. Alias

D. Format

Correct Answer: C

QUESTION 3

What can an application developer provide to automate the save process for all TM1 objects?
A. A script to store ODBC data in a cube.

B. A chore with scripts to write data to all cubes.

C. Arule to save data in all cubes.

D. A chore with scripts to write data to all dimensions.

Correct Answer: B

QUESTION 4
When creating a drill process to drill to data from an external source, which of the following must be created?
A. An ODBC connection.

B. A process to read the data into a cube.
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C. A cube containing the data.
D. A view of the data.

Correct Answer: A

QUESTION 5

Which of the following rules should be fed?

A. [J[FC:\V'Price\W*\\'Cost\\';
B. [J[=N:\\Price\WV*\\'Cost\\';
C. [J=S:\\'Price*Cost\\';

D. []=C:\WPrice\WA\\'Cost\\';

Correct Answer: B
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